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Question Paper Code : C 1229

11/ Tech, DEGRER EXAMINATION, APRIL/MAY 2010,
Fourth Semester
Blectronics and Instrumentation Engincering
EC 1312 — DIGITAL LOGIC CIRCUITS

(Common to Instrumentation and Control Engincering and (Fifth Semester)
rical and Eloctronics Engincering)

(Regulation 2004)

(Also common to Fourth semester (.. Part-time) Electricel and
Electronics ngincering, Rogulation 2005)

“Time : Three hours Masimum : 100 marks
Answer AL questions

PART A — (102 = 20 marks)

L Convert
@ (820},
@ (oL,

State De Morgan’s theorem.
3. State two application sites where code convorters are used.

)

4. Tmplement the following using NOR gates (4 + B) (4 +

5 Realisea 7 flipflop using o JK lp-Top

6. State the drawback of SR Mlip-Tlop.

7. Whatis  sequential crcuit? State the Lypes of sequential cireuit.
5. What is meant by dynamic hazard?

9. How many advess ines ore necessary o access 2 2048 x 8§ RAN?

10. What is tho physical significance of fan-out and noise-margin?
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PART B — (5 % 16 = 80 marks)

(i) Obtain the minimi
switching function using

fovm (2,3,6,7,11,12,13, 14, 15,20, 28,29, 30, 8 +

SOP form for the following five veriable

4 (16, 20 )
() Show by an example that AND-OR operation can be replaced by
NAND-NAND operation. )

o

G Tind the minimal-sum-of-product_expression for  the following
“witching funetion using Quine-Me Clusky method.

[ =tm (1,2,,6,5,9, 14,17, 24, 25,26,27, 30,30 + 24 (4,5 (10)

) (1) What are the disndvantages of minimisation of Boolean
Sunction using K-Map? @

(@) Define mintorm, prime implicat. Give an example for each.(4)

() Design and implement a fall adder cireuit vsing NOR gates.  (10)

(i) Design a2 4 demultiplexer. ®
o

) Use a multipleser having three data select inputs to implement the

o for the fusction. £ == (0,1, 2,3, 4,10, 11, 14, 15), (10)

i) Design a Octal-to-Binary encoder. ®

Fxplains the working of a master-slave JI flip-flop. ®

i) Design a mod-10 counter and explain its working. ®
or

esign o syochsonous sequentiel cireuit having & single input and &
Cingle output. Tho output is to be zero unless an input sequonce 0010 13
ceceived.

A asynchronous sequential circuil using SR lateh with (0 inputs A and
e e autput Y i8 10 bo designed. B is the contral input. When B s 1,
ot the Input A to output Y. When B is 0, output does not change
for any change in input.
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i)

Stato the differances betwoon synchronous and asynchronous logic

@
Write notes on

) RACING. ®
) HAZARD. ®
Explain the working of a three input TTL NAND gate. 10
Write notes on FPGA. ®

or

Explain the working of a two input CMOS NOR gate. ®
Compare the TTL, ECL, CMOS logie families ®
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